1

1%

I ransfer:

lend

nts about th

me

> 1nhibitic

ATED M




10.

11.

12,

13.

14.

15.

16.

17.

Which of the following statement is incorrect?

a. ACC synthesis increases in root b. Intercellular freezing occurs when
during flood stress temperature falls suddenly
c. Sorbitol accumulation in cells take d. The plants with free -SH group is more
place during water stress resistant to freezing stress

During acclimation tolerance of plants against particular stress is:

a. Decreased b. Not affected

c. Increased d. All of the above

Match the following:

a. Flood stress 1. H20;

b. drought 2. Heat stress

¢. Chaperonins 3. Gibberellin

d. Catalase 4. Sorbitol

a. a-3 b-4 c-2 d-1 b. a-4 b-3 c-1 d-2

c. a-4 b-3 ¢c-2 d-1 d. a-4 b-2 c-3 d-1
Physiological stress is due to:

a. Water stress b. High temperature

¢. Low temperature d. Salinity

Which is called abiotic stress hormone?

a. Ethylene b. Brassinosteroid

¢. Strogolactone d. ABA
Which amino acid chiefly accumulates in cells of water stressed plant?

a. Proline b. Leucine

c. Glycine d. Methionine

Which of the following is incorrect in biotic stress?

a. Gummosis is very common in stone b. Elicitors are host produced signal

fruit trees molecules
¢. Chitinases is one group of PR proteins  d. Allelopathy is a type of biotic stress

What is ROI?

a. Relative Oxygen Index b. Reactive Oxygen Index

¢. Relation Oxygen Index d. None of these

Biotic stress in plants is caused by:

a. Heat b. Insect

c. Cold d. Water

Presence of salt glands on leaf surfaces is characleristics of:

a. Suaeda fruticosa b. Tamarix pentandra

¢. Atnplex spongiosa d. None of the above

Which group contains climacteric fruits?

a. Apricot, mango, litchi b. Orange watermelon, cherry
¢. Peach, papaya, plum d. Banana, papaya, watermelon
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